LIRS

RERE L i B | BUBE|EEHE| BR g &
TERZEESTR
BRAKEMET HPPE (EFZ O+ 2ZE%) L=5.00m ¢ 150 x 17 85m#n & (5£0m)
¢ 150(P) HPPE (%) L=5.00m ¢ 150 X 3 13m# E% (5% 2m)
PVEIA b $150(P)x ¢ 100(V)| & 1
EFlZF—X $150% ¢ 75 & 2
$100(V) HiVP  L=4.00m ¢ 100 x 1 2m# % (5% 2m)
AHEE (V) ¢ 100 X 45° 1& 2
¢ 50(P—V) HPPE(EFZO{t A ZEE) L=5.00m ¢ 50 X 1 5m#n 2% (7% O0m)
HiVP  L=4.00m ¢ 50 PN 1 4m# $% (5% 0m)
EFLTa1—% $75x% 50 {& 1
AHEE (V) ¢ 50 x 45° & 2
VEPEESZS ¢ 50 1& 1
BRI —k BRI —k W=150S m 109.0 100.0+9.0
ABST 3t ABSTIiEEM @ 100(V) G 1 XABSTLi%
AN (V) $100(V) & 1 ¥ABSTI %
TUIHHET RURA—RFEY I —LIETHF ¢ 150 = 1
¢ 150(P) toH=E H=800 # 1
TUIRHET |FRELUH ¢ 50 = 1
¢ 50(P—V) BRLHFVrIsP) ¢ 50 & 1 127t
BhLFViryk(v) ¢ 50 1& 1
tH=E H=800 # 1
HAREBET HAE ¢ 75 = 1
WiEHF H=200 ¢ 75 = 1
ANBISUOREBFATEE $150% 75 & 1
ISUTEEM 675 & 2
HARE H=800 # 1
HAKYEL YRILFES KRG BER) $150% 20 1@ 7 a7 — kR
BLAHF 20 1& 7
HRIL kAR HiVP  L=4.00m ¢ 20 x 5 14X 25m
¢75% ¢ 20 HIiT LR 20 1& 14
HiV vk 20 1& 7
BRI —k BRI —k W=150S m 17.5
TEEREAR
BRAKEMET HPPE (EFZ2 O+ 2ZE%) L=5.00m ¢ 75 x 14 70m# 2% (550m)
¢ 75(P) HPPE (%) L=5.00m ¢ 75 X 2 10m7 5% (5%0m)
AHBME (P-VIREE LR ¢ 75 % 45° & 1
AHEE (V) 75 45° 1& 1
VEPEESZS 675 1& 1
BRI —k BRI —k W=150S m 80.0
ABST % ABST k& # @ 75(V) ELiid 1 XABSI ik
TUIHHET RURA—REY I —LIETHF ¢ 100 = 2
¢ 75(P) tH=E H=800 # 2
fEAKEIET YRILFES KRG RER) $75% ¢ 20 & 4 a7 — kR
BLAHF 20 1& 4
Z';é';(ﬁ;gg? HIVP__L=4.00m ®20 X 3
N=4{4 HiT)L7R @20 & 8
Hiv 4wk 20 e 4
YRILFES KRGV RER) $75% 25 & 1 a7 — k8
HRILS KA ALAHF ¢ 25 @ 1
¢ 75% ¢ 25 HiVP  L=4.00m 25 X 1
N=16F HIT LA $25 I 2
HiV vk ¢ 25 1& 1
YRILFES KRGV RER) ¢ 75% ¢ 30 & 1 a7 — kR
HRILSKAE ALAHF ¢ 30 @ 1
¢ 75% ¢ 30 HiVP  L=4.00m 30 X 1
N=16F HIT LA $30 I 2
HiV vk 30 1& 1
RS —k BRI —k W=150S m 15.0 25mx 14




FHR

BRIRB &R bS] B4 | B98E|ZERE| B 5 &
TEE B ST R
BKEMBRT |[RUIFLUBERERT @150 m 98.0 85+13
$150(P) RUTFLUEYRT & 150 m] 3
AN=HIHFI(P) ¢ 150 m} 5
RUTFLUEMF T (REES) | ¢150 1OMF | &Av 17
RUIFLUOERFI (REES) | 0150 208F | & 2
$100(V) Eo LSRRI @100 m 20 2m7 R (54 2m)
AAZHILHEFI(V) ¢ 100 m} 5
6 50(P—V) RUTFLUERET @50 m 5.0 5m7 5% (5%0m)
E-LERSRT @50 m 40 4m A E%(5%0m)
RUIFLUERF T (REES) ¢75 1O#F | &EFT 1
RUIFLUERF I REES) $50 1O#F | &fr 1
AAZAIBFEI(V) ¢ 50 & 6
EHR—H BR—b+ 109.0 100.0+9.0
ABST ik ABST % (577%) @ 100(V) 1z 1 XABSIi%
AAZHILHEFI(V) $100(V) 18 1 XABSIi%
TUHBET TUHBET $ 150 = 1
@150 (P) ANZHIMFT @150 m} 2
RERET H=800 Ei:| 1
BERE ® 1
TUHBRELT  |[HLUARET @50 H 1
®50(P—V) HENOARERLAAES @50 m] 2
RYIFLUEMRFT @50 m] 2
FEFRETL H=600 #H 1
BENE ® 1
HAREBRET HARERET @75 H® 1
ANZAIMFT @ 150 m] 2
ISUUHFT 75 m} 1
RERET H=800 Ei:| 1
BHERE & 1
HKkYIBT YRILSKRBRETL RIERA @150 ¢ 20 18 7 a7 — &
. HERCAAT ®20 m} 7
Zﬁégfgf E-—ILERMET $20 m 175 1 % 2.5m
TSHFT ®20 m} 42
BRI —bk e W=150S m 175
TERER
EKEMET RUTFLUERET ¢ 75 m 80 70+10
®75(P) RUTFLUEYRT ¢ 75 m] 2
AN=HILBFIT(P) ¢ 75 m] 6
RUIFLUERF I REES) ¢75 1O#F | & 14
BRI —bk e W=150S m 80.0
ABSI % ABSILA(HHEE) G 75(V) & 1 XABSTIik
TUHBRELT  |[HLUARET @75 H 2
®75(P) ANZHIMFT 75 m} 4
RERET H=800 Ei:| 2
BHERE ® 2
EKkEIBT YRILSKREBRETL RIERA @ 75% $20 18 4 a7 — &
HRILA KR MERLAHT 20 m] 4
$75% $20 E-—LEMBRT ®20 m 10
N=4fF TS#HFT $20 o 24
HRILKRERET RIEHR d75% ¢ 20 & 1 a7 —{kE
Z%’ iﬁ’;’ﬁf ﬁlﬁl"ﬁd@tﬁi&ﬁ_l ®20 m} 1
N=144 E-—LEMHFT $20 m 25
TSHFT ®20 m} 6
HRILKRERET RIEHR d75% ¢ 20 & 1 a7 —{kE
Z%’ Lf’;’?f ﬁlﬁl"ﬁd@tﬁi&ﬁ_l ®20 m} 1
N=144 E-—LEMHFT $20 m 25
TSHFT ®20 m} 6
e RV —k W=150S m 15.0 2.5m X 644
HEKHER
EKELER BAKEHERT fRKETRE A 0.095 H=L/2000
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BEKEMRZL H=800 | KFED 060 m x 1040 m X 850 m = 53.04 m3

H=800 | KE® 060 m X 1040 m X 150 m = 936 m3

HRIET H=800 | HREI® 060 m x 0923 m X 90 m = 498 m3

ABS 100 m x 1000 m X 20 m = 200 m3
aF 69.38 m3 70

H=800 | KFED 060 m X 0380 m X 850 m = 19.38 m3

H=800 | KFE®@ 060 m X 0380 m X 150 m = 342 m3

HERLIERFYT)| H=800 | KFE® 060 m X 0263 m X 90 m 142 m3

ABS 100 m x 0325 m X 20 m = 200 m3
aF 2622 m3 30
HHIERLI(%4EL) | H=800 |MiED~OQ 060 m X 0490 m X 1090 m = 3205 m3 30
BIMET 69.38 - 32.05 /0.9 3378 m3 30
TRERELT t=10cm | RC-30 060 m x 109.0 m = 65.40 m2 65
LTRERET t=8cm M-30 060 m X 109.0 m 6540 m2 65
{RAsSHZET t=3cm FBHL 060 m x 109.0 m 6540 m2 65
AEIBASSHET t=4cm L 080 m X 150 m = 1200 m2 12
AsSHEER I T t=4cm 15.00 x 40 600 m 60
AsSHEERRIRRE T t=4cm 080 m X 150 m A 1200 m2 12
RAsEHEERRFERE T 060 m x 150 m B = 9.00 m2 9
AsTERGER -0 T A X004 + B X 0.03 075 m3 0.8
HKEIB T |HKRIET H=800 | MFED 060 m X 1040 m X 175 m 1092 m3 10
HERLIENRFYS)| H=800 | MFE®D 060 m X 0380 m X 175 m = 399 m3 4
HHERLI(EELT) | H=800 | MWED 060 m X 0490 m X 175 m 515 m3 5
BIMET 10.92 - 5.15 /0.9 520 m3 5
TRERELT t=15¢cm | RC-30 060 m x 175 m = 1050 m2 10
LTRERET t=12cm M-30 060 m X 175 m 1050 m2 10
RAsSHZET t=3cm FBHL 060 m X 50 m 300 m2 3
AEIBAsSHET t=5cm L 080 m x 50 m = 400 m2 4
AsTERR I T t=5cm 500 m X 40 % 200 m 20
AsEhiE IR T t=5cm 080 m X 50 m A 400 m2 4

RASEHEERRFERE T 060 m x 50 m B = 300 m2
AsTETGER -0 T A X004 + B X 0.03 = 025 m3 0.2

FEEAR

BKERRT H=800 | KFE® 060 m X 0950 m X 800 m = 4560 m3

HRIET ABS 1.00 m 1000 m X 20 m 200 m3
aF 47.60 50

H=800 | KFE® 060 m 0290 m x 800 m = 1392 m3

BHERLIGREFYT)| ABS 1.00 m 0290 m X 20 m = 058 m3
aF 14.50 10

H=800 | KE® 060 m 0490 m X 800 m = 2352 m3

BHIERLI(R4EL) ABS 200 m 0490 m x 20m = 1.96 m3
aF 25.48 30
BIMET 4760 m3 - 2352 m3 / 0.90 = 19.29 m3 20
TRERELT t=15¢cm | RC-30 060 m x 820 m 4920 m2 49
LTRERET t=12cm M-30 060 m X 820 m 4920 m2 49
{RAsSHZET t=3cm FBHL 060 m x 820 m = 4920 m2 49
AEIBASSHET t=5cm L 080 m X 820 m 65.60 m2 66
AsSHER I T t=4cm 82.00 x 4.00 3280 m 328
AsSHEERRIRRE T t=4cm 080 m X 820 m A = 65.60 m2 66
RAsEHEERRFERE T 060 m x 820 m B 4920 m2 49
AsSHEERREN - 5 T A%0.05 + B x0.03 476 m3 5
HKEIB T |HKRIET H=800 | KFE® 060 m X 0950 m X 150 m = 855 m3 9
HERLIENRFYF)| H=800 | WIE® 060 m X 0290 m X 150 m 261 m3 3
HHERLIT(REL) H=800 HrE@ 060 m X 0490 m X 150 m 441 m3 4
BIMET 8.55 - 4.41 /0.9 = 365 m3 4
TRERELT t=15¢cm | RC-30 060 m x 150 m 9.00 m2 9
TRERiET t=12cm M-30 060 m X 150 m 9.00 m2 9
{RAsSHZET t=3cm FBHL 060 m x 150 m = 9.00 m2 9
AEIBASSHET t=5cm L 080 m X 150 m = 1200 m2 12
AsSHER I T t=5cm 15.00 x 4.00 = 600 m 60
AsSHEERRIRRE T t=5cm 080 m X 150 m A = 1200 m2 12
RAsEHEERRFERE T 060 m x 150 m B = 9.00 m2 9
AsTERGER -0 T A X004 + B X 0.03 = 075 m3 0.8




¢ 100 HPPE fd /K & U] & #£
UEE (m) \
B OEHW B R |0 ERE S BE (m) L W=
zZ.-1 ) Z.-3 Z.-4 -5 ) O-—©® ([)

HPPE 150 5.000 3.000 3.000 2.000 1

HPPE 150 5. 000 4. 000 1. 000 5. 000 1

HPPE 150 5.000 4.000 1. 000 5.000 1

7 15. 000 11.000 2.000 13. 000 2.000 3

15. 000 11. 000 2.000 13. 000 2.000 3.000




075 HPPE fid K & 4] & &
UEE (m)
%4 (m) Y 1T
=] forcs Vo =
AR B RO ERE zu . K &
5}
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 OD—@ (A)
1 HPPE 75 5. 000 4. 000 1. 000 5. 000 1 BE 2
2 HPPE 75 5. 000 4. 000 1. 000 5. 000 1
3
i 10. 000 8. 000 2. 000 10. 000 2
10. 000 8. 000 2. 000 10. 000 2. 000




MR

BRARA 2 A& HE | HOBE|ZRHE| BR w5 &
BBMBEEETE [HPPE (FL—2IUR) ¢ 50 VN 1 5.0m#f1 5% (5%0m)
BKEMEZT |HIVP L=4.00m @50 VN 3 12.0m#7 5% (5%0m)
® 50 VSCa U MNER) $100x $50 | {& 1
AHBIE(V) ¢ 50 x 45° & 3
AHBIE (P) x (VZEH ¢ 50 X 45° & 1
HIEZZEV vk ¢50% @40 & 2
VEPEEZS ¢ 50 & 1
®40 HiVP L=4.00m ¢ 40 x 23 90.0m#7 5% (5%2.0m)
Hiv 4wk 40 1@ 19
AHBITEE (V) $40x ¢40 1@ 1
VSTaA ok 40 & 1
BRI —b BRI —k W=150S m 107.0
HYIHHET [SHRAETUH 50 = 3
15 050 x 3 |Baltviryb(EZLRA) 50 1@ 5
(P)— (V) 1& BRLAVTyGERYR) ¢ 50 & 1
%) 2% TR =E H=600 E3:| 3
kBT YRILF5HKEE (EZILA) ®40x 20 & 7
YRILDKE P05 340k ¢ 20 53 7
$20 N=74 ,
HiVP  L=4.00m ®20 P 5
Hiv 47wk ©$20 1& 7
HiTJLAR ¢ 20 & 14
BRI —b BRI —k W=150S m 175 TH#L=2.5m




PRHR A & A& Hil| Z9#E | £R#E IR 5 &

RBIEEATR |[RI)ITFLUERET ®50 m 5.0

BEKEMZT |ESILEMZT ®50 m 12.0

$50 BE-R) Ah=AILBFT ¢ 100 m] 1

BE-R) AD=HIBFT ¢ 50 a 11

TS#MFT 50 a 2

® 40 E-ILERET ® 40 m 90.0

TSH#FT ¢ 40 A 40

BE R AD=HIBFT ® 40 a 5

BRR—~ [EHRY—H m 107.0

HKEER BKEERT HIKELRE S| 0.054 (#23EF)/2,000H

AUHFHRET |EUHFEZRET ¢ 50 = 3

17 050 3 |HE/NPORERLCAA#ES ®50 A 6

(P)—(V) RUIFLUEHRFT 50 a 6

REHRET H=600 #8 3

HERE M 3

HKUIBET YRILAKREFRETL EZILER $40x ¢ 20 1& 7

YRILDKE QA0 (s AH T 20 = 7
$20 N=84 : -

EZILEmET 20 m 175

TSHFT ¢ 20 A 42

BRI —k  |BERYV—k W=150S m 175




£ L % | # B # = HEtHE
REFE IS B TR
BKEMET H=600 | EFE®D 060 m X 0723 m 170 m = 7.37 m3
B PR IE T " HER® 060 m X 0.708 m 900 m 3823 m3 50
A § 4561 m3
¥rE® 060 m 0.263 m 170 m = 2.68 m3
HEWIERLT FEFYT | HERQR 060 m 0.248 m 900 m = 1339 m3 20
& 16.07 m3
¥rE® 060 m 0290 m 170 m = 296 m3
HEWIERLT REX |[H@EOO 060 m 0290 m 900 m = 15.66 m3 20
B § 18.62 m3
BranmT A-B/0.9 = 2492 m3 20
TERET t=10cm | RC-30 060 m X 107.0 m 6420 m2 64
LERET t=8cm M-30 060 m X 107.0 m = 6420 m2 64
KIEIHAsTHET t=4cm EH 080 m X 40 m = 320 m2 3
AsElZE R UIBT T t=15cmELF LIMRER) x 45 = 16.00 m 16
AsERZEMRAERET t=10cmBL 080 m X 40 m Gl = 320 m2 3
AsEHEFER- 05T C % 0.04 = 0.13 m3 0.1
HBKEMZT |[HEEKETL H=600 060 m X 0708 m X 175 m = 743 m3 7
N=8{4 HHIERLT FEFT 060 m X 0226 m X 175 m = 237 m3 2
HHIERLT BEx 060 m X 0290 m X 175 m = 3.05 m3 3
EtmmT 6.80-2.78/0.9 = 405 m3 4
TR®RET t=10cm | RC-30 060 m X 175 m = 1050 m2 10
rERET t=8cm M-30 060 m X 175 m = 1050 m2 10




¢50 HiVP fid K & b & &
UEE (m)
%4 (m) Y 1T
=] forcs Vo =
AR B RO ERE zu . K &
5}
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 OD—@ (A)
HiVP 50 4. 000 1. 000 1. 000 2. 000 4. 000 2
HiVP 50 4. 000 1. 000 1. 000 2. 000 4. 000 2
4
5
6
7
i 8. 000 2. 000 2. 000 4. 000 8. 000 4
8. 000 2. 000 2. 000 4. 000 8. 000 4. 000




i)

25 HiVP Pl K & B
UEE (m)
%4 (m) Y 1T
=] forcs Vo =

AR B RO ERE zu . K &

z.-1 Z.-2 Z.-3 Z.—4 Z.-5 OD—@ (A)

HiVP 40 4. 000 2. 000 2. 000 2. 000 1

i 4. 000 2. 000 2. 000 2. 000 1

4. 000 2. 000 2. 000 2. 000 1. 000




